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2. Methods
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2.2.1. Estimate Task
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2.2.1.1. Stimulus material.
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> FREEDC - ‘What is the difference in the chance of survivetvieen those who don't take Drug
A versus those who do?’
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2.2.2. Comprehension Task
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2.2.3. Preferences task
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3.1. Response time on estimate task
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Table 1 Mean (standard deviation) response tinsed@onds, accuracy (absolute size of error) and
preferences rating as a function of pictograph mdatection, and shading (N = 76)

Format Response time 2 Accuracy b Preferences ¢
Horizontal 10.06 (0.25)* 0.16 (0.02)* 3.08 (0.07)
Vertical 10.83 (0.29)* 0.21 (0.03)* 2.98 (0.07)
Two-graph 10.37 (0.29) 0.18 (0.03) 2.55 (0.06)*
One-graph 10.52 (0.29) 0.19 (0.02) 3.51 (0.07)*
Shaded 10.42 (0.26) 0.18 (0.02) 3.67 (0.08)*
Unshaded 10.46 (0.27) 0.19 (0.02) 2.40 (0.09)*

a Mean (standard deviation) response time in seconds.
b Mean (standard deviation) of absolute size of error—lower scores equate to higher accuracy.
¢ Mean (standard deviation) score between 1 and 5—higher scores equate to greater preference.
*
p <0.05.

3.2. Accuracy on estimate task
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Table 2 Number of absolute error score as a fumctfgictograph mode, direction and shading

Format Absolute error frequencies

0 1 2 3 4 5+
One-graph 3138 380 87 24 6 6
Two-graph 3169 339 73 30 9 7
Vertical 3097* 405 81 29 12 8
Horizontal 3210* 314 79 25 3 5
Shaded 3151 351 92 23 9 10
Unshaded 3156 368 68 31 6 3
*p < 0.05.

3.3. Accuracy on comprehension questions
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Table 3 Mean (standard deviation) response tinse@onds and accuracy (absolute size of error) on
estimate task as a function of comprehension tesle{N = 76)

Comprehension task score Response fime Accuracy’
Score of 5 10.90 (0.28) 0.10 (0.03)*
Score of <5 10.11 (0.25) 0.25 (0.03)*

a Mean (standard deviation) response time in second
b Mean (standard deviation) of absolute size afrertower scores equate to higher accuracy.
*

p < 0.05.



3.4. Preferences

L Table 1

BRDH Y OFNRESR L LY biFEiiz (F(1,75) = 144.8, g 0.00D
187 7 7 OFMN 2 M7 7 7 X0 b Fii-(F(1,75) = 106.9, g 0.001)
F D FENFIIHE TIXR D> 72(F(1,75) = 1.5, p 0.05)
WTNORAEEH AR TIE R oT2

VVVYYVY

4, Discussion and conclusions
4.1. Discussion
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Appendix A. Comprehension task questions

I What represents the best description of the BLUE areéa of diagram B?
A People who may die due o Drug A
B. People who may die anyway, whether or ot they take Drog A
. Peapie who may survive due to Drug A
. People who may survive anyway, whether or not they tuke Drug A

2. What represents the best deseription of the YELLOW area of diagram A?
AL People who may die due to Drog A
B. Feapte who may die anvway, whether or not they take Drug A
. People who may survive due to not taking Drog A

3. People who may survive anyway, whether or not they take Drug A

3. What represents the best deseription of the ORANGE area of this diagram?
A, People who may die due to Drug A
B. People who moy die anyway, whether or nod they ke Drug A
. People who mayv survive due (o Drug A

0. People who may survive anyway, whether or not they take Drog A

4. What represents the best description of the BLUE area of this diagram™?
AL People who may die due 1w Drug A
B. Feople who may die anvway, whether ar not they take Drog A
. People who may survive due to Drug A

[ People who may survive anyway, whether or not they take Dirug A

5. What represents the best description of the YELLOW area of this diagram?
A, People who may die due 10 Drug A
B. People who may die anyway, whether or not they take Drog A
C. People who may survive due 1o Drug A

0. People who may survive anyway, whether or not they take Brug A

Each of the comnprehension task queestions related e a different pictograph, available fom the authors on

TequEL,
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OF 1000 people i their 50's, over 10 years,
whi DON'T vake Drug A

Fig. 1. Example of one complex graph, horizontéhdfisplay, shaded pictograph (predominant outcome

death).

fihat is the diferences in the chance of sunnal betwesn those wio don't take (g & werses those who do?

Fig. 2. Example of two simple graphs, vertical déisplay, unshaded (predominant outcome survival).

What is the difference in the chance of survival between those who don't take Drug A versus those who da?



